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The Moon has a smaller
than Earth so the
gravitational pull on the

is on Earth.

Moon is smaller than it |

Jupiter has

a greater than Earth

so the gravitational pull

on Jupiter is stronger
than on Earth.
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Mass is how
much matter is
inside an object.
It is measured in
kilograms (kg).

-

N\ anobject down. It
O\ is measured in
newtons (N).
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Pulleys can be used to
make a small force lift
a lighter load. The more
wheels in a pulley, the
less force is needed to lift
a weight.

Gears/Cogs

Gears or cogs can be

used to change the
speed, force or direction
of a motion. When two
gears are connected,
they always turn in the
opposite direction to

each other.

Levers can be used to
make a small force lift
a lighter load. A lever
always rests on a pivot.
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Water resistance and air resistance are forms of friction. Friction is sometimes
helpful and sometimes unhelpful. For example, air resistance is helpful as it stops
the skydiver hitting the ground at high speed. Friction on a bike chain can make

the bike harder to pedal so it is unhelpful.

Cyclist force
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B. magmatism
C. friction
D. gravity
Question2—[ | 6 St GKA A& RALF INI Y (|Startofudits|End éf dnd K | Qudidd S-aWhat NEforde-yheter? Start of unit | End of unit
I Oa 2y ®
A.! forcemeters | £ a2 Ol met&R A a yiFwSiR yi 2
Y S| &rdzsNtBnced
B.! forcemetery | f &2 O mét&R A & yBBSIR yi 2
Y S| &rdapidetismd
r C.! forcemeter | f a2 O met&R A & yBBIIR yi 2
Y S| afdreeRp
Question 3 - What is a Newton? Start of unit | End of unit Question 6 - Friction, air resistance and water resistance | Start of unit | End of unit
are forces which moving objects.
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